1. Question: 'IFT =T AdF AHF [FANH FHG?

AT+T+8+7
B) 1 + &
C)a+a+d
D) 7 + &

Answer:
AT+ +H+7

Explanation: 3%« (A7) {(SS I 3F®) VIH+IA([6)} Y- - FTHA - SFAEN; INoP; FEAW -
SMAE; THSTT ((FA-The) - forsi1er; STFT ((TQ-THeT) - fTFFeT; T3, A TS: ARAT TG ASH
2. Question: IR IATNT AT I FIG?

A) aft

B) >

C) voft

D) vf6

Answer: B) >f6

Explanation: * IR NI (NG Fof TPTMG1 « AFNET sJefomar Iof 0fb 932 Ifomarg wio| « I3

(TG S F+f 8ofG| « =AM, MR Sofb| « SMaTRi So G Fefa ey Faaaef Wb a7 F77+f 8
« MARS 7 35-8 = 6| TSNz IRAT SIAF FFR, FIA-T (T |

3. Question: '@ =T ST T FF (FH6?2

A) ST+ P

B) ®+9

C)®+3

D)+

Answer: B) 3 + 9

Explanation: « & = & +  '&®' I& (%19 SRAT- @1, (TR, fFear7e, 768 2eniv| TIN: IR SFF

TFNFA, FIN-T |

4. Question: [AET @ =6 ST sifdw 27A?



A) ST
B) @&t

C)
D) Bt

Answer: B) Gt
Explanation: BT 756 Y% TfEe ¥ | - F-31F 237 A-FNEF 99 3-F19 5337 5-F1F AFE

SO AT 2-319 27| A-F1F TFT6! THEH N0T J& | - (TN VS + 2% = B(S™], M2 + 57 = A&,
ST + 507 = STFCPT, IV + 3 = I JefIw| TSN IRAT SR IR, FIA-T1 (T |

5. Question: IR TATT W (FAG?

A) ST5FfS
B) ©CNT
C) ATsTEe
D) IS

Answer: B) ©UTI{«

Explanation: 57 31T J7 = FA1T (7 TRAMR), 9 G 6 = Fa=Fhs (GO 9% 7FF), SCF
faf3re I = SCIR (5@t ©STFF), AT (F HZT = AT (FHHTFT) |

6. Question: 96T @@ [0y "™?

A) 3Te

B) toifss
C) Sme
D) smEH

Answer: A) 3Te

Explanation: - IR AFTG SN FRAT ASHT Do TR Oy w1 - sn€H = f{eret &1
- ST - T 3 OFE - O 7| - GIfFF - [y 3 f[Hom=eTr 7w

7. Question: f¥EF (@1 <@ o A SEPNE 0" -7 FTIRF TF®?

A) T
B) fastfe
C) fager
D) e



Answer: C) i@

Explanation: ©S5¥ I .F® @d I - 97 WoF IIRNES 752 o-% f[FH1 - 3, 7, ¥- 973 96
IR, 7, T, 7, 7,01 IR F-INF 8 F-FNY R/ A3 ©IF TII6! o JHefy ‘7' 7| A3, 53 =6
o-F AN fTTNIE @R - 94T FeIe, o@er, [Tl TwSeEms ToTes o 271 S5 IR SAF
I, FIH-T (IfeT |

8. Question: RGN TR TATTW FE'--- IFOE (AGICF INF FNEI FIAET T ===n
A) PRI TR T FE

B) Ryl SR o A7 & MG

C) At (FT It FE

D) A& (&S T F@ a1

Answer: A) fSrMAETE SR o FE

Explanation: (@f$316F I FM@F FAES I Y (IET 4F2 E (@ T35 F1AE JA3T I
“FrI@E (@6 o @ 97 T TPFOIE @fedts T T FE®|

9. Question: 'Null and Void' --aF 1 SFe=T F1?

A) fages

B) sTe&wel

C) TR

D) des

Answer: D) F1fee (Null and Void means F1fw in Bengali)

Explanation: 1T AFTGHAT IS “Null and Void” g IRT JoA] 'TfeeT |

10. Question: (TC TSI (FH (FF SR T+ (@MST SI0® TE®R?
A) @R + g

B) @M + wAfq

C) @fF + wrafd

D) @R + mif

Answer: D) R@&ER + mify

Explanation: (IG-GNIS: > S RN ANSHT, TRAT IFTGH SN - RESHIAA 471 + (IS



(o) - 2@ = I Fo1e | [OMy — M7 « GhEfS () - a1 ol 37T 8507 3
AT ST AR BE | > F, NEHF TRAT ST TFAT (205> WFIT) TAE - (RG-S
RES+HEM =)

11. Question: 'FJT" -7 WPF JF f[Fw @FHG?

A) T+ 3
B) TSt + 5%
C)dfq + %4
D) df + 34

Answer: B) I3t + 5
Explanation: I3 &8 0% S [t 2@ qF + 391 - 3319 K97 H-F1&EF 9T 3919 &

F-FIT AFE SO T T H-FF 27| - (TF: TMote, TSI, TOIT], Tol4, T, AW, To T 3eiv|
[@: TR SRF FFIA-TIT T ]

12. Question: 'a (T AHES (&A1 GNP ===JNFS "(BAT" (I *0?

A) fCTEy
B) a7y
C) f&
D) fCmer

Answer: D) fCTR (Adjective)
Explanation: (I % 13T {05 YL A7 {FIAPEI (17 Be7 3T 2257 ATHA 20510 TFTT FEF OF

IO 5% IE| - A IS G {6 T (6T AR I T3 T3 FE® o) aft [emaT *m) -
ARTCT3, FRAT AFTOHT MY IRAT NS SE ‘(a7 FOeT =17

13. Question: 'TFF T FAAF 37 ~=mmm

A) TeF¥eT
B) w1y
C) IrFer
D) S33¥

Answer: B) 5@

Explanation: 53X (fR0my): 91¥- (19w, S35, Safs; 3fe; a1 T3N: TRAT FTGH A
TREAT S



14. Question: (FAG FS THFT 3N Tool] qI?

A) TG
B) 5P
C) TFuasie

D) Ires
Answer: D) 969

Explanation: G, 5FITF 8 FLATT - FTON AGFT VAT T5]| FIT SHASHANET P15 -
IFTEA, AT, TS, FII6!, NMOF F1HT, SHFAT SIN: IRATSAT 3 MRSy RS, (g (T3

15. Question: IS T S T (P FET?

A) 5Hod
B) babo
C) 5335
D) v558

Answer: B) S50

Explanation: - 538 fFB1@ MF 'S5 T (GYAT T=7aF JF17e 2J| - IRAT SThaifod
1T 9% 5T S FAFTIT| TIN: IRAT ST 8 NfRes fFewm, . (Nfera Crag|

16. Question: NI [TTIF AGF ---

A) 64 o m&

B) F&1® @4

C) TR WA S

D) IS SISTS AT AT

Answer: B) %1% &S

Explanation: 73w X0 2% Ab® 1165 - SES ST TSI I -- (&7 AP - Tl
T §IF - R @S F9F [A@R

17. Question: (FFG SHFGTANTT NGF?

A) TR



B) Mo v
C) (@1 FfRAT
D) @@wd (T

Answer: A) FTTA

Explanation: & 33 SIS R aft® A163: - (F@R (T, - THTY, - TANF 8 - NI ST
TP 5T - SN FAT, - 1FF AMTF AEAF 3 - I (R - (@] FIRA ©FF qfow aF1a
ST B3 TRAT Mfzey (FIF-7 1Y) (@16 I3 8 IRenfHiEam

18. Question: FHEIF IR TR0SY (I HHICTRS -7 ST AAITN?

A) TR T

B) Mg

C) anfoany

D) Seohma

Answer: D) StveTma

Explanation: Scemma (F%F 40T 27765 | f6fd [F9) (I 5% Toa] FE [ & o1 AEF Ffhe
IR IR AMROOTT AR (FHT TRy

19. Question: JAF (G IS JLF (FTA6?

A) ¥

B) fofd

C) F&TE Med

D) AT FNA IAFAA

Answer: C) &1 J@

Explanation: - A (GIYTT SINTON I[te A6 (TN AT FolaAl TP

20. Question: (FHG ST FI?

)ﬁq—q’mﬁw

B) e I ST
C)W%ﬁﬁ
D) FfIerd FT

Answer: C) ¥ o1t



Explanation: - 'SfSe1d FT e~ w7 Afte s9359% | - Tamfag F1ay Mfas ey
A6 TN - TR IMFH SAFT SRTTF ICHIF AC® SATN | - "X o1 [ Fgfessd
FEFHEETTIF 6© ST | TS5 TRAT SAT 3 Wfzey FBH-G. (Nf3a (13|

21. Question: 'fFE™ 51’ AFfG ----

A) STTEFT 5%

B) s¥f{¥3% I9=

C) IS AT

D) 321 SR Sy

Answer: D) 3f&=T SIRqdt Sorey

Explanation: 17 8% (X107 df6® (79 Sy - 3am-fiv, I 9376 2oz anfEe Soaym| -
FIIFTR FIRAF 3} Toa1d PO Tove] NFES T36© AT A ST F7 27 | - MR
TS (FHAIE S FIRAT (NF Ae[AT© T AC© ‘AW (F A1TF RAF ST AT T@®| -
Af% TATFE SBHe, ST 3 Sbdd WIET fon BT SF1e 3F; TRTCI© (ST 9FAS Jfue 27|

22. Question: YO CTH FfF SIHOLY TASINFI Fo T JRITTT FEA?
A) S9¢Y
B) vaax
C) Sab%
D) squo

Answer: B) Y9

Explanation: - 35 J5T G AT STACH FI SIHO6Y AISMFA| - FSfel Sas3 ST Ssrzef FE
8 Sqb0 NE N I | - fofel Srawrsmie ST T6e7|

23. Question: (GRS FIHH (F Iod] FET?

A) (TS FTST

B) M5 317

C) stifafaw e

D) S8

Answer: A) (e ST

Explanation: - S8 F1YETR NHEF T3] OIF (N SR TS | - (NS M MBAFIS



R TATS! (SU8%), TOINI-EF-HTET (S L), TITTFF (5G4 @), TIFHLF IMSHIT (SLbD) 3
A (5L 0); FEFIIT @IHT (SbY8) AT THGITIF FIT TSN |

24. Question: A% f&fAf Ft w6ty Mitterg FHFe?

A) T®T W AIReS
B) ¥ sifzey

C) 9% Wf2 ey

D) sty

Answer: B) f Wfzey

Explanation: - SI5TH Te@d CTANE 8 ST @ e TAfeE 8 Trpfos [@a
FAPTOI 27 TS FIASTF 8 FTH TS NAGT T TG | - FIASTFOH A& FEF SEAET
AT RCET (SIS 8, 22 5154, 9°5fw a7l T3 IR ST 8 Mizes vesm, T. ¢Nfia CrE|

25. Question: "B FeTTes tfHa" SRGF MEGT —mmmm

A) SR (i
B) (ST *Tof
C) zq55 W 9%
D) AR I

Answer: B) (ST T

Explanation: - FT5E1 35 dfb® 5% ‘A6 Forues 5fHa’ (Svod) | - afb IreTfer afbw I sTftera
N AU 5% - AR - JCT ©IF IMESH6 9% @R SIN: IRAT SAT 3 Mfzes &™), ©. ¢ifa
CTF|

26. Question: XFx (FFFT (STSIF JHTaAT (I HAFT FF11® 2?2

A) 510
B) WAW TSIFH

C) WAFT
D) SaraIEer

Answer: B) MW To1F4
Explanation: - 33 (I35 (ST AT RN S ‘SN AfGFT1 - 97 T e uipergas

TRATTENT | - Vo SIE Af6 o3 231716 271 A7TT1S, - 3T (T FoF By AT Y180 SEH MY
&1 5 TS 77T S|



27. Question: Y TSR e A GFIT AT ----

A) SITFTT Ff%HFT
B) fafm oz
C) F1R5 THTT

D) SATST SFREFT

Answer: A) SIE& A3FT

Explanation: IRATT FHTT (W IFI16 TNT RIWHF AF ‘THITST TFIHFT |

28. Question: T @FE0 aFRE [FIF 9% 997?

A) (T fameT
B) ST

C) 7i&sme

D) 51F 2311 FT

Answer: B) =TGN
Explanation: - '5T8 318 FT(5>5b) TN (CIYSF STIIF| - STECN IR HR0STF T I 1R |

TETeT - FHT6% SR - ‘GRS - fFave waFiRas F6fier - Famgs ey fSf
YR AN 92 TG T FEN | - (TCT 0T ST o] Sl oo AT 1Rt |

29. Question: AT (T TATTT AT THS KA 67 AT TS FEA ----

A) STImIST
B) STavaalg Iy
C) =g AT
D) St

Answer: C) s¥d A6
Explanation: - IFN64 SEPIETET SICE ST S| At6 93 B NEIETF ST anaes

(T, SRTT FHS KNI {57 AT TS FEIA| - AT SANIISENS STl STATS SI@F 57
foarFe T@®| TRT: AR O] 8 MfXey @™ -5, (Mg g 8 IR~

30. Question: fIEa (@4 53 4o FNTIRT 'TE IR SANCI?



A) fRidi-fafoat
B) SMIfere-aTaery

C) Seyref-amett
D) foyfaers-f=yet

Answer: A) fREdi-fRenfadt

Explanation: @ IRE (52 ¢) FIEARE 56 ST (1 3% e | 36+ S1aes asaies
(TFTG w1 9T SENETST bfFa- AT, & 8 It TS5 IR T 3 Mizes @™ -G, cifa
CTAF|

31. Question: (FAMG FIOT TS I SN ?

A) faeg (@
SREEE
C) SIETAT

D) &1

Answer: A) fa@a @wd

Explanation: « 318 7o+ 2T A6 SHavS: - JTHA-RAT, - TLIHT 3 - PRI« FRIPT
ST TS SRGIA | + 98 STHCIF 34570 T, "Z21E1 NI 3o | Z21ET T FHEH &
TS TSI AMRIR | 2ZTAT ST2A TR F6F, AR B 1" TIH: RS ATNFS (FTFEH|

32. Question: (FTAb NR@ NI WG TaPIs?

INERIEEI
B) faeiites =@
C) iz
D) Stamwm@r

Answer: B) fI@mes 7@
Explanation: SIaB- F1R7 A7 76 456 7a F1I5| TASIE 9 HFEH ROy TR 208y B1R

T | (AT ATRET TYTHA 2© (I AfAF NeqF ROTF AGHIES 7@ [A@EH 07 Fay 2evim
TFT FEM AR FIF| A2 FIES 92 IE GG SS 6 53 =

33. Question: "aFAIT (26 (F© N AT ---FITAR SFEF (F1H FAOH 5J0?



C) &t
D) (T Bt

Answer: A) IeT[FT

Explanation: - 'CTE B4 (¥ »8) II@a A6 f2® FI[TZ| - "9FAMT (16 (Fo aNfy aar
56 A2 FIRAE 'CNF O FiTST (Y (TS

34. Question: "R fF:IIT FAT FAM ----FIOIG FIF TAT?

A) RIS [T

B) ST =

C) ST T

D) I S SN

Answer: A) XTIS5[F FIRIATA

Explanation: 31 ST SIRGETR 508 ST I (ST I51% SAEF IRIACT FuFToT SITeT
SR FEA| SF T FIITIE - [ 1 7|

35. Question: (FAG T8F© SHAET Toa] qI?

A) SIS

B) Fewiid 2y
C) el swsy

D) (&5

Answer: C) 3fq s

Explanation: - 'Sewed (5D 61), 'CIFE A3R ‘I AW - T8F6 ST Ab© SHAT| -
(ST S[F1E BEEIHS Afbw T2 FfeT| SS: RGN § IR Ffo7|

36. Question: SF IR (FEG?

A) FRIE

B) IRFH

C) ITEFF

D) IWIH

Answer: B) $RF1F



Explanation: 331 (fR077): 9% - foaTsiae 3@ araen 37 fagmy, Senféis =y a7 4e1f% Ry ez
{7, superstition {(©35T I F© X141) F + ITF; (FHLFT THIN)} SS¥: IRAT IFC ATSHTH |

37. Question: Professor Razzak was a scholar repute. (Fill in the gap)

A)in
B) by
C) after
D) of

Answer: D) of

Explanation: A scholar of repute: 25fes=Tg 3@ I fI@ (@1 | 318 TR of @ *[|

38. Question: 'David Copperfield' is a/an novel.
A) Modern

B) Elizabethan

C) Romantic

D) Victorian

Answer: D) Victorian

Explanation: * Charles Dickens is a famous Victorian novelist.

39. Question: 'Elegy Written in a Country Churchyard' is written by -----
A) William Wordsworth

B) W. B. Yeats

C) John Keats

D) Thomas Gray

Answer: D) Thomas Gray

Explanation: Thomas Gray was an English poet. Mostly Famous for his Elegies

40. Question: John Smith is good Mathematics. (Fill in the gap)

A) after
B)in



C) of
D) at

Answer: D) at

Explanation: Good at 5% X W | (ST %8 75 (13100 1T Good at F07

41. Question: Shakespeare's 'Measure for Measure' is a successful-----

A) tragedy

B) melodrama
C) tragi-comedy
D) comedy

Answer: C) tragi-comedy

Explanation: William Shakespeare's comedy: - Measure for Measure (Dark Comedy) - As You
like It - The Winter's Tales etc

42. Question: Teacher said, 'The earth____round the sun'.

A) will be moving

B) moved

C) has moved

D) moves

Answer: D) moves

Explanation: General truth','universal truth' ¥ present indefinite tense T19T T $47 |
Present indefinite tense 9 structure X Subject + verb a3 base form 4 subjectfb third person
singular number T verb 95 NI 's' AT 'es' & 2JF) + object. SJodR verb-fb 2@ 'moves'.

43. Question: The romantic age in English literature began with the publication of .
A) Preface to Shakespeare

B) Preface to Dr. Johnson

C) Preface to Ancient Mariners

D) Preface to Lyrical Ballads

Answer: D) Preface to Lyrical Ballads



Explanation: - 'Lyrical Ballads' was published in 1798. - The Romantic period began with the
publication of Lyrical Ballads. Lyrical Ballad is a collection of romantic poems. - It is written by
William Wordsworth and Samuel Taylor Coleridge.

44. Question: In English grammar, deals with formation of sentences.

A) Morphology
B) Etymology
C) Semantics
D) Syntax

Answer: D) Syntax

Explanation: In Linguistics, Morphology = The study of the forms of words Etymology = The
origin of a word and the historical development of its meaning. Syntax = The arrangement of
words and phrases to create well-formed sentences in a language. Semantics = The branch of
linguistics and logic concerned with meaning of a word, phrase, sentence, or text.

45. Question: Which of the following books is written by Thomas Hardy?

A) Vanity Fair

B) Oliver Twist

C) Pride and Prejudice

D) The Return of the Native

Answer: D) The Return of the Native

Explanation: Thomas Hardy (1840-1928): He was a regional novelist and a poet. Works: -The
Return of the Native (1878) -The Mayor of Casterbridge (1886) -Tess of the D'Urbervilles (1891)
46. Question: He insisted there. (Fill in the gap)

A) to go

B)is to go

C) over going

D) on my going

Answer: A) to go

Explanation: Insist on/upon 372 (1T 3‘550\(\9 (B9 (W71 Insist on/upon a7 ST verb a7 ing form
I



47. Question: The idiom 'A stitch in time saves nine' - refers to the importance of-----

A) saving lives
B) time tailoring
C) saving time
D) timely action

Answer: D) timely action

Explanation: A stitch in time saves nine' 936 Idiom JTF S~ STNIF IFEHG ATHIT TNHIG |
AT STHIACST F18 FAE AT FE 3T timely action a7 ST STRETTTA |

48. Question: 'Frailty the name is woman' is a famous dialogue from -

A) Christopher Marlowe

B) John Webstar

C)T. S. Eliot

D) W. Shakespeare

Answer: D) W. Shakespeare

Explanation: - 'Frailty thy name is woman' aft William Shakespeare a3 fa25/@ a3f6 Sf& 1 - aft
©fF f3271® drama 'Hamlet' (3@ @3371 - a3 Sf& Hamlet S1F M@ ST FE IEE@A | - This
speech taken to mean that women are weaker than men.

49. Question: The poem 'The Solitary Reaper' is written by -

A) W. H. Auden

B) Ezra Pound

C) W. B. Yeats

D) W. Wordsworth

Answer: D) W. Wordsworth (The correct answer is D)

Explanation: - William Wordsworth is the Father of the Romantic Age. - He is called Poet of

Nature, Poet of Childhood, Lake poet.

50. Question: 'The Merchant of Venice' is a Shakespearean play about___.



A) a Turk
B) a Moor
C) a Roman
D) a Jew

Answer: D) a Jew - The Merchant of Venice is a Shakespearean play about a Jewish
moneylender named Shylock.

Explanation: « The Merchant of Venice is a famous Comedy of William Shakespeare. * The
important character of The Merchant of Venice: - Antonio, - Shylock (Jew moneylender), -
Portia, - Bassanio, - Jessica

51. Question: What would be the right antonym for ‘initiative’?

A) activity

B) indolence

C) enterprise

D) apathy

Answer: B) indolence

Explanation: Initiative (noun): Meaning: The ability to assess and initiate things independently.
SYNONYMS: - enterprise, inventiveness, resourcefulness, capability, imagination,
imaginativeness, ingenuity, originality, creativity ANTONYMS - unimaginativeness, apathy etc
52. Question: The play 'Candida’ is by-

A) James Joyce

B) Shakespeare

C) Arthur Miller

D) G. B. Shaw

Answer: D) G. B. Shaw

Explanation: Candida, a comedy by playwright George Bernard Shaw, was written in 1894 and
first published in 1898, as part of his Plays Pleasant

53. Question: Which of the following writers belongs to the romantic period in English

literature?

A) A. Tennyson



B) Alexander Pope

C) John Dryden

D) S. T. Coleridge
Answer: D) S. T. Coleridge

Explanation: The timeframe 1798-1832 is called Romantic Age in English literature.

54. Question: This could have worked if | been more cautious.

A) would
B) have
C) might
D) had

Answer: D) had

Explanation: Third conditional ﬂﬁﬁ?ﬂ'ﬁ:ﬂﬁ principal clause 4 would have/could have/might
have A3 if clause 6 past perfect 2| JoaR TN 'had' Ff3F Ted |

55. Question: The Climax of a plot is what happens___.

A) in the beginning

B) in the confrontation

C) at the end

D) at the height

Answer: C) at the end

Explanation: Climax 2% (F19 A& 3T TGS ST 31751 AT turning point (I Toa1d o O 27
I T61F Tod BF 2J| JodR, Climax happens at the height of a plot.

56. Question: London town is found a living being in the works of __.
A) Thomas Hardy

B) D. H. Lawrence

C) W. Congreve

D) Charles Dickens

Answer: D) Charles Dickens



Explanation: Charles Dickens's famous novel: - A Tale of Two Cities - A Christmas Carol -
David Copperfield - Bleak House - Great Expectations Almost in his every creation, he set a plot
for London city. Source: britannica.com

57. Question: | have been living in Dhaka 2000.

A) till

B) from

C) after

D) since

Answer: D) since

Explanation: Since 99 F53%1&2 Point of time 97 & since 071 Point of time (%= (18 WIFTT I
9%, 92, O o7 ST 9% JIT STee] S T T (ST 3O TN A (N0 F | (TT- 5o
(TPIRTE, ST NYR/ATH/IRA, o161, SIS foabT Reffv| (IN- | have been living in Dhaka since 2007.
I have been waiting since half past three.

58. Question: Give the antonym of the word 'transitory".

A) temporary
B) short-lived
C) transparent
D) permanent

Answer: D) permanent

Explanation: Transitory (Adjective): Meaning: Not permanent. SYNONYMS: - temporary,
transient, brief, short, short-lived, short-term, impermanent, ephemeral, evanescent, momentary,
fleeting, flying, passing, fugitive ANTONYMS - permanent, perpetual, lasting Source: Oxford
Dictionary

59. Question: Verb of 'Number' is:
A) numerical

B) enumerate

C) numbering

D) number

Answer: B) enumerate



Explanation: According to The Oxford dictionary, Number (noun) - An arithmetical value,
expressed by a word, symbol, or figure, representing a particular quantity and used in counting
and making calculations. Number (Verb): Amount to (a specified figure or quantity); comprise.
So, the verb form of word 'number' is 'number'.

60. Question: 'Child is the father of man’' is taken from the poem of .

A) A. C. Swinbume
B) s. T. Coleridge
C) P. B. Shelley

D) W. Wordsworth

Answer: D) W. Wordsworth

Explanation: My Heart Leaps Up By William Wordsworth

61. Question: Slow and steady the race. (Fill in the gap)

A) win

B) won

C) has won
D) wins

Answer: D) wins

Explanation: {6 noun 3% and 181 & 3T 932 ¥ FFPT &, (7@ verb-6 singular 271 S[eaTR
singular subject Wﬁ’r verb-f& singular 318 'wins' T@1

62. Question: 'Man is a political animal' who said this?

A) Dante

B) Plato

C) Socrates

D) Aristotle

Answer: D) Aristotle

Explanation: Few famous quotations: Socrates - An unexamined life is not worth living. Plato -
Necessity is the mother of invention Aristotle - Man is by nature a political animal (the Politics).



63. Question: Who is known as 'the poet of nature' in English literature?

A) Lord Tennyson

B) John Milton

C) John Keats

D) William Wordsworth

Answer: D) William Wordsworth

Explanation: William Wordsworth (1770 — 1850): He is one of the major poets of the Romantic
period. He is known as - Poet of Nature, Poet of Childhood, Lake poet.

64. Question: Identify the correct sentence?

A) Yesterday, he has gone home
B) Yesterday, he did gone home
C) Yesterday, he had gone home
D) Yesterday, he went home

Answer: C) Yesterday, he had gone home

Explanation: Yesterday' *&fb /&1 &6 Past Indefinite Tense @1 318 'Yesterday, he went
home' I3 |

65. Question: ‘A Passage to India’ is written by-

A) A. H. Auden

B) Rudyard Kipling
C) Galls Worthy
D) E. M. Forster

Answer: D) E. M. Forster

Explanation: E.M. Forster(1879-1970): In full Edward Morgan Forster. British novelist, essayist,
and social and literary critic. His fame rests largely on his novels ‘Howards End (1910)’ and ‘A
Passage to India (1924).‘A Passage to India’ examines racism and colonialism

66. Question: 'Gitanjali' of Rabindranath Tagore was translated by-

A) Rudyard Kipling
B) Robert Frost



C) John Keats
D) W. B. Yeats

Answer: D) W. B. Yeats

Explanation: 'Gitanjali’ is the most famous work by Rabindranath Tagore

67. Question: 'Venerate' means-

A) defame
B) abuse

C) accuse
D) respect

Answer: D) respect
Explanation: Venerate English Meaning: To honor or have great respect for a person or thing.

Bangla Meaning: SOIT®TR T&1/6f& F4T; TS P11 Synonyms: Respect (a1 4T1), Worship (31
F41), Idolize (MIOTSBT ST P4T). Antonyms: Despise (W/%WQW/‘@(W/@II%S 90).

68. Question: Credit tk 5000 my account.

A)in

B) with

C) against
D) to

Answer: D) to
Explanation: Credit-a5 9 amount A% @IF99 account-ag AT to IET| (I34- Credit tk 2000 to

my account. Credit-29 o account A% ©TF5F amount-a5 3T with 071 (IFA- They credited my
account with $20 after | pointed out the mistake

69. Question: 'To do away with' means-
A) to repeat

B) to start

C) to drive off

D) to get rid of

Answer: D) to get rid of



Explanation: To do away with - To get rid of/Remove or put an end to something/Kill someone.
o1 - 3{f& M.

70. Question: Who of the following writers was not a novelist?

A) Charles Dickens

B) Jane Austen

C) James Joyce

D) W. B. Yeats

Answer: D) W. B. Yeats

Explanation: - William Butler Yeats is an Irish dramatist, poet and critic.

71. Question: Which one is a correct sentences ?
A) Paper is made of wood

B) Paper is made on wood

C) Paper is made by wood

D) Paper is made from wood

Answer: D) Paper is made from wood

Explanation: (1 {55 tof{d 7 2 SHm={G (W1 (ST made of 7| (I: - This ring is made of
gold. - This table is made of wood. (F1 % ¥ 77 P SAMMAIG (721 A1 (57T made from I
(A - The paper is made from bamboo/wood.

72. Question: A = {x : xCGNIfeIF 27T 32X < 5}2, P(A)aF Y0 25 F672

A)3

B)7

C)6

D)8

Answer: A) 3

Explanation: A = {2,3,5) .". P(A) 98 S 207 = 23 [A 97 S 537 3 6] = 8

73. Question: 126 3% (@ 56 F© FFNE IR F NI TN 2fC JIF TR TG AFE?



A) 252
B) 792
C) 224
D) 120

Answer: B) 792

Explanation: n Sa1F & (A& JfSIF r T21F AT I IR FIF TN @A p TRATF sy
STw1 fAMNe AFE = n-pCr-p 93, n = 12, r = 5, p = 2 X, IF IR 341 I = 10C3 = 120 TFF

74. Question: RIS AR fRENG AT -x08¢ FETH IFTR FHH 3T HER B AR (31 ¢
7| 2 5TeNR JHIF (R 1 28TNF A F9?

A) 1
B) 5/7
C) 117
D) 2/7

Answer: C) 1/7

Explanation: 456 Sf&® fiet == 7 6 3} 2@® 5 el .*. (I@1ET a0y B 2831 ST@1=e1 5/7
o113, JHANS JfT 2T TEFAT = 5/7 " JNAN B A T8TF WE¥= 1 - 5/7 = 2/7

75. Question: wto BIFT W © (Ff ¥ fFE 8 B11 217 ©F16 et (NG Fo Byt fte 21?2

A) 58 BIFT

B) So¢ BIT

C) SX GIT

D) 82 BI31

Answer: B) So¢ BIT

Explanation: © (& i85 77 © x wto = Soto BIFT Soo BIFF TG 8 BIFT .". Soto BIFT ©II6
SoGoXx 8/500 = 83 BIFT

76. Question: I (ST T 1¢% (& T ©F (O TIAF ToFH F© FA (0 1w TT Jfa

TE q?

A) 5%
B) 8%



C) %
D) 0%

Answer: B) 8%

Explanation: 2¢% Jf&0® (ST 3} 53¢ BIFT $3¢ BIFF FM@ 2T 3¢ BIFT " Soo BIFF F©
(Soo x X@)/SXE = X0 BIFT

77. Question: FfG RATF 8% w0 A3 5. W1 8 b© | AT 4f6F 7. 1. 8. F67?

A) 850
B) 9vo
C) bwo
D) %o

Answer: B) 9bo

Explanation: SISTaT Sfe, 736 SRATE ST = 5% 26 5. . 8 x Sk Rfoe 7. A1 8 77, vovo
=V5O X H. 8. HL 8 =3%o

78. Question: 1+3 +5 +........... +(2x - 1) $9? x(x - 1) x(x + 1)/2 x(x + 1) x2 Show T
FOTH PP (HOIHG X2

Answer: C) x(x + 1)/2

Explanation: 9: 1 +3+5+ 7 +....... + 2x - 1 972 TN 94T HAOI TN M, a = 1 SENFA
R, d=24AneN M=2x-1AmgINfAneym=a+(n-1)d=2x-1=1+(n-1)2 = 2x-
1=1+2n-2=2x-1=2n-1= 2x =2n X = n 9T % YT n = x AR N, TNBT HTIF X
RATE @ SHG = (x/2){2a + (x - 1)d} = (W2}{2.1 + (x - 1)2} = (x/2)(2 + 2x - 2) = (X/2)* 2x = x2 1
+3+5+7 4. +2x-192x-1 TR THGE JINE AR 92 TFF 2x - 1 46 Foo 4 ©f HA
(d9 F9© W@®|

79. Question: logV381 $©?
A)4

B) 273

Cc)18

D)8

Answer: A) 4



Explanation: logV381 = logV3(V3)8 = 8logV3V3=8x1=8

80. Question: I (25)2x+3 = 53x+6 3T & X = F©?

A)4

B) 1

C) -1

D)0

Answer: B) 1

Explanation: (25)2x+3 = 53x+6 = (52)2x+3 = 53x+6 = 54x+6 = 53x+6 .. 4x +6=3x+6 =
4x-3x=6-6..x=0

81. Question: f5a WP O (F A8 @ AABC F@FG| Ly = 112° 7, Lx = ? -> 65.PNG
A) 68°

B) 39°

C) 45°

D) 34°

Answer: B) 39°

Explanation: ABOC a5 325 ZAOB =£0BC + ZOCB 239, ZAOB + Zy = 180° ZOBC +
ZOCB+ Zy=180° Lx+ £x=180°-112°24x =68° Lx = 34°

82. Question: %5 INHET TIT W 412 9FF T P TAFE (FI%T F© I IFF?

A) 24

B) 8

C) 32

D) 16

Answer: B) 8

Explanation: I5@ET 0= x T, FC(T @5 xV2 I(F@T @ x = 4 (Fa%A x2 = 42

83. Question: AABC - ZA =40° £B =70°, 3 AABC % 4367 fager?



A) ST
B) @1t
C) a1

D) sfad1R

Answer: C) ¥3q12

Explanation: (A@g fagEd foa (@1 smfg 180 fEfs, ©1ReT C (e e 2 (180 - 40 - 70) = 70
fSfET1 92T B 8 C (&1 o, S (FE1 Qe 7316 (1l 5T fageies 136 F128 53 2@ | O
fageft e fags 2=

84. Question: x2+y?=185, x -y = 3 a7 aF(5 TN :

A)(7,4)
B) (9,6)
C) (10,7)
D) (11,8)

Answer: C) (10,7)

Explanation: x2 + y2 =185 (x-y)2 + 2xy =185 [ x -y =3] 2xy = 185-9 2xy = 176 .". 4xy =
352 . x+y=V{(x-y)2 +4xy}=V(32+352) .. x +y=+361=19x+y=19........ (1)x-y=
KT (2)(1) 8 (2) T IE MR, 2x=22x=11..y=8

85. Question: 66.PNG

A)1

B) -1

C)a+1

D)a-1

Answer: B) -1

Explanation: a-[a-{a-(a-(a-1))}]=a-[a-{a-(a-a+1)}]=a-[a-{a-1}]=a-[a-a+1]
=a-1

86. Question: x-1/x=1,x*-1/x3=7?

A)1

B) 2
C)3



D)4
Answer: C) 3

Explanation: x3 - 1/x3 = (x - 1/x)3 + 3x.1/x (x - 1/x) =13+ 3. 1=4

87. Question: S+ ¢ + D + mmemeemaea- +y=?

A) DU
B) LY
C) LS
D) BUY

Answer: A) b5

Explanation: n©d¥ s m=a+ (n-1)d = 81=1+4n-4[As,d=4]=>4n=81+3=84 .. n=21n
SF Y Sn = n/2{2a + (n-1)d} = 21/2{2x1 + 20x4} = (21/2) x 82 = 861

88. Question: TIERNF 3 (F1F AN INE? -> 67.PNG

A)L10

B) L15

C)K15

D) K8

Answer: B) L15

Explanation: S WIfS(e, - A a7 59 ff617 3¢ = C; C a7 7 56T I+ = E ATSE, 2 + 4 = 6 7oy
A, G 97 77 fFelF Fof = |; | 97 77 Gl I+ = K RASEN, 3 + 5 = 8 Foi Jawe, M 97 77
fFSiy 3 = O; O 97 77 fFelT I = Q RWIBEN, 5+ 9 = 14

89. Question: IM, ¢+ V=3V, >+ S =YY, 3 +5 =30 TV, ¢ +8=7?

A) Sk

B) 3%

C)xo

D) v

Answer: B) b

Explanation: 33T (@SIHETT S SF6 Q@ AFFTES TS 93 fFoiy I%f6 2@ TFT@T (@55 |



So Q@+ 8 = (E-8)(Q+8) = 5D

90. Question: @ FANNF YFRARFONE S HON AHET I Lol AHT (FAG?
A)J

B)S

C)F

D)H

Answer: B) S

Explanation: 3@ IANAT ADTEOH IFHF R, 97 INUET SoF IFJ @ H

91. Question: V15.6025 = ?
A) 3.85

B) 3.75

C) 3.65

D) 3.95

Answer: A) 3.85

Explanation: V15.6025 = 3.95

92. Question: 9, 9, 8, 18, G, 35, Y NIF ALH RATT Fo AJ?

A) Y

B) 9

C)

D) 3%

Answer: B) 9

Explanation: 22T %36 STAT =1 S 41T ©, 8, ¢, b YT HTAT: 9, 88, X 43T 9 G 7w I f35my
HFOT AEH TRAT T 3T ATE 8o 7 IS 9, 38, 3, 3B...

93. Question: G AR (FAT FIM [0 (=7 FE?

A) 8
B) q



C)v
D) (=W S T

Answer: B) 9

Explanation: it N&e (F317 F5136! 727 T4 07 452 AF 0T IFLE AT NS (I I
2| 96 TNBATT (] FAAS T (7 F AT

94. Question: #wg ford (F0 TN AfeHa+? -> 68.PNG

A) 69.PNG

B) 71.PNG

C) 72.PNG

D) 70.PNG

Answer: B) 71.PNG

Explanation: SIFaTX (F1ET 5% Afo%eTa 2T ST S0 ST (7T I =105 S I ST SNy
(TAE T =0S | SAFSIST AR AT 932 YFE |

95. Question: ST IH] FHC© G f6ra T fd F© 38 T1Ae S? -> 73.PNG

A) 4 kg

B) 6 kg

C) 10 kg

D) 8 kg

Answer: B) 6 kg

Explanation: $x @ =8 x b F = & (Ff

96. Question: -9 F© TORT b (E[?
A) o0
B) @woo
C) w8t
D) 8oo

Answer: A) o0

Explanation: 47, R AFFTORTIE@ Y .. X AT F/So0= Y J[, 3F= b x Yoo .". F = oo



97. Question: TAERNS IH (FAG INE? ©, bo, », B, 29, Y, B, 8, 189, (?)

A) 53
B) 8
C) 5@
D) 3

Answer: B) 8

Explanation: 93T 26 STAT ST fordl @1 SF &A1 © o0, 3, 39, &Y, 389, ... YT HTAIDG : So,
B, Y, 8,3, ... AR, TAQNT b6 I 1T N1IF T7T6! AT 2 TJ|

98. Question: TIEHF I (1 6 IHE? -> 74.PNG

A) 36

B) 32

C) 40

D) 31

Answer: B) 32

Explanation: fca STfRE S5 557 + G2 SRATF ¥FT = THEF A1 S f61m, 30 + (30 - 15) = 45
faeix fotm, 25 + (25 - 19) = 31 oIF fb@, 28 + (28 - 21) = 35

99. Question: AT @& EHIG Non-volatile?

A) SRAM

B) DRAM

S ERIGERERIGIES

D) ROM

Answer: D) ROM (Read-Only Memory)

Explanation: - 753 517 I 3@ (T (I 75T (AENNH@ TAF© TTHT R TF o1 o Non-Volitile

TN I | (I RIGFSE, F, FPT GIENT 2ovf| - f&vye F31R 39 2 (516 (X NFeT (NS MAFe
TI6T 3= I O Volitile (NENF I¢T1 (I1 DRAM, SRAM, SD-RAM.

100. Question: ) f9d @1&fb 3G Language 53?



A)C

B) Java

C)C++

D) Assembly Language

Answer: D) Assembly Language

Explanation: - (e TS 8 ATTIT TRSETS 2% Low level Language I INTHE 4 3 fFoiy
SOOI - POIT TG (I VR (ST TRYFS [ TF AMN®| (FF- Python, Java, C, C++,
ALGOL, Fortran 3e51™|

101. Question: ) 9T @ Tfet wfd?

A) S (STSTIRTEG = Sooo FRb
B) S (ISTIA1RG = So38 TRG
C) > fFER1EG = Sooo ARG
D) b fFETRRE = Soz8 TRE

Answer: B) S (FSTIA126 = o8 TRG

Explanation: - 5 126 S b fI6 - & fFENRE = 038 A6 - & [FENERE = 038 IRG - S (ANIRG =
5038 fIFTETATRE AT 30,8',¢9b JRG AT Sox8xSo38 JNRG| Az MG AFH-T (AT 973 AFTTT-TT7T
CIfar (MR TE) |

102. Question: ) Wi-fi 1 55 6-a7 $F fefs & 18 F@?

A) IEEE 806.11
B) IEEE 804.11
C) IEEE 803.11
D) IEEE 802.11

Answer: D) IEEE 802.11

Explanation: 8¥12-%1R 2% 436 S4f¥ SRR 5Yf& I IRTE FE (FTA] 3EIE AP [GORAE TF
STTSST=sTe FBREE AT 5237 FETOIF (ST AT (ST AWl Ju FaC© M| WiFi a7
MYNF NG e IEEE 802.11B, AFEF Food REHIEF a1 @] IEEE 802.11G a3 SI0H
WiFi 6 91 =IfAfb® SoroT6 2= IEEE 802.11ax|

103. Question: ) [T (FAHE NHETS 2AHIES fGORT T2 F1 2J?

A) WAN



B) Satellite Communication
C) MAN
D) TV fAent FE&=

Answer: D) TV fa0Ib G
Explanation: 39%TES: {6 13 43@d 3@S I1F P [T woo GHz (@ 800 THz T A | JJ

FRIFIR TS 36 GSRETH & (NN (FA IAHNES HIRE FA1 7F | 9 HI@F TR 3
@ ENGF 8 Ao 4|

104. Question: ) (1011)2 + (0101)2="?

A) (1100)2
B) (11000)2
C) (01100)2
D) (FTEAIB2 77

Answer: A) (1100)2

Explanation: IR &fSte @15 F&, 1011 0101 10000 .". (1011)2+(0101)2=(10000)2

105. Question: ) WI MAX- a7 &+ {72

A) (FIENTEE & F

B) Worldwide Internet for Microwave Access

C) Worldwide Interconection for Microwave Access
D) Worldwide Interoperability for Microwave Access

Answer: D) Worldwide Interoperability for Microwave Access

Explanation: 3I21H 2Ff6 TF sifod TS @RS F(F | 1 [Ye AP woslied o Rz
RLEEE (AT T4 FE| - WIMAX-97 ‘jﬂ%ﬂ X1 Worldwide Interoperability for Microwave
Access. - af6 s¥f&ToeIE IEEE 802.16 AT FfH{bw |

106. Question: ) Boolean Algebra - 97 fAGa (G 95?2

A) TTEF (FTEAI62 7
B)A.A=1
C)A+A=2A
D)A+A=1



Answer: B) A. A =1 (Option B)

107. Question: ) 8086 F© fAHd V2T AXII?

A) 8
B) @ (FIHIHR 9%
C) 32
D) 16

Answer: D) 16 (8086 is a 16-bit microprocessor)

Explanation: - 8008, 8080 % 8 fJG fAff1% IR@T ITTF| - vook, vovo X v G AT IR@T
THT| - o b, ok, Boskyb T L b fAfF 8 AR 0N | - bovk b, wos8by 3¢ vy fJb
3<% IR@ 941 - Intel Core i3, Core i5, Core i7, Intel Itanium 2 w8 3T AR IR@T a7 |
529 NI (SfHF© 26T bobb NREHIEMNA 6 SO G S TREECHA| T3¥: ARG FTH-77
cafer

108. Question: ) Mobile Phone -33 (¥4 input device F3?

A) Keypad
B) Touch Screen
C) Camera
D) Power Supply

Answer: D) Power Supply

Explanation: Mobile Phone a5 input device X keypad, touchscreen, camera etc. Power
Supply 3T® output device.

109. Question: ) f9Ea @b TGIES language?

A) (FTNMGR 77
B)C

C) MS-Word
D) Oracle

Answer: D) Oracle
Explanation: - C T (21Nf3% language - MS-Word 2% 3316 St THb3ITF 93T Oracle-2

9PN TIGIES 3T STHE3IF| Oracle Corporation, formerly Software Development
Laboratories develops and markets computer software applications for business. The company



is best known for its Oracle database software, a relational database management system, and
for computer systems and software, such as Solaris and Java. Source: britannica.com

110. Question: ) Linkedin - 97 (%@ (F1A(6 ¥PF?

A) aft 935 RFSET ARNECEHG PN @GR TS
B) aft 2003 ST Af6fFe

C) 2004 T Af6T ToHs1223T 20 fRIfFNET SIfes 23

D) ECRIGERERIGIEY

Answer: A) aft 936 f[TSEST AFFEHS CIFHRET (@63THFL ST

Explanation: LinkedIn is a social networking site designed specifically for the business
community. Founded on December 28, 2002, and launched on May 5, 2003.

111. Question: ) FRAGAE SNCHE (BT F FT T[T TJ?

A) e @68TR fToRT T FAF I

B) (F1NfER 7

C) aft @63 T fFAT REF To2 FO FE

D) R 31 o7 A& o7 43R (A63IRFE NIF FIF IS

Answer: A) fafes (@581 EORY I FAH I

Explanation: f3fes S T19218 $@& Afed A TEa & (IS T51 FE 930 AGRRET ST
Iy A6 ACIPT J@ FAC© (TH3T TIT F1 27| (THT 9T T8 20 56 (AGSANFH S AES
@G3R J& F4T|

112. Question: ) fAEa @16 FPITEIET AR GIENTE?
A) (FIEBE 73

B) Hard Disk

C) Pen drive

D) RAM

Answer: D) RAM (Random Access Memory)

Explanation: RAM 3 ROM A5 Sa@ FPIGHIET SRNfE (onfa sifde |

113. Question: ) Plotter (19 ¥F fE®1RRN?



A) T

B) ST@S (FIAID2 9%
C) (oenfa

D) SI&t6

Answer: D) SIS5T6

Explanation: A plotter is an output device designed to print vector graphics. A plotter is typically
used for printing large-format graphs or maps.

114. Question: ) I T THF ST (FT JT FSEIOF ATGE?

A) @IfFS
B) (AfaIGr
C) (eohla
D) a3+

Answer: A) GfG

Explanation: S1fee1 JfFearita e RS st o8& Femdi afsfod @ a1 (F1E M=
ST TR IRAT | TS 2@ AT, FETNT, FEAT 3 AEAT| T FT 2 (&, IRATT JT0IT
TASTT A& AFF SRR TIGEE @

115. Question: ) IRAT TLABIT FTF I fF?
A) 2@

B) ©1H[1g

C) (TS

D) 78

Answer: C) (TG

Explanation: IRTNE TEEEH 93 NHFZS S 3| T3H: IRAFIGT

116. Question: ) IR (T 3 BHAT) AT ST fFIH @FF I TNAF TE® T@®?

A) ST
B) @OF-2-aNFa4!
C) SNFIFAT

D) IIRH-3-AFIT



Answer: A) SNSRI

Explanation: S5 SIFIEH TAINER ORI (FF¥F AT %o dbe oIS o151 5afere Tt
SRTH © TG 5% (T SFIIAB | 9 T ©OIT AGH T R SNRA-3-SNFIAN | (T TR (T 3
ST ACTE T3 51fex R Ff4s TEfe | SASTBET 97 (74T 5% 2o 'S I-2-AAFNl | SJa
Freenfafean

117. Question: ) GIFTF TETIRSTR sf forsfTel A :

A) T S[8
B) SIS 2T A
C) Sta Spren

D) @31 A1
Answer: B) S[EWIF 3 AT

Explanation: I AT GIFT AT 75, (RAGT FIHAT HR AT IS 37 f{sfler FEA| TIH:
ARG

118. Question: ) IRTF ' RIATCET NFEF" - 97 FIF FIT:

A) Ay o™
B) Savo b=
C) Sab¢ o™
D) v990 f3rBr=

Answer: B) S9uo o™
Explanation: fR¥13@T T387 AT YO TG 990 BB (IRAT T $590) | ST & ST

Mo 57 AN Ao FF I=g| TN IAIEI

119. Question: ) ST (F41T AFSAT T =TT s1fde 27?

A) X0 ST $5¢R
B) XTI S @}

C) Sp(HSIME SR
D) @b BRI SR

Answer: B) 3&FIT @R



o o

Explanation: o5 S, S>¢x ST ST AT FoT9fs AT S Sorifer e [fen
TNAGF-TRF6F WETd ASFHAETR 9F NSIT TFAT (6T AFSAT & A 51 27|
FAZSIAT SR AT XS (HFM (AT (FFANN) T TFIA 2701, Tl 3 fFegre fifeeet
SIS Ta1E (1 T3z IRAH G

120. Question: ) & W& W (77 127 :

A) 590 HIET
B) S>b> ST
C) S>ba NI
D) S» b S

Answer: B) 52U ST

Explanation: siffsx MNFIET REHOAT (O[T O3-58d Toed STSHTAT AT STeT
SoLY HEFT O WW3$WWWW

121. Question: ) FFFFF $>95 SETF 9 M6 SHCEF THIPE T NFIN (T SETT befeeet (6 2@

A) IENRTWE THEF TTFF eI AT
B) ST ‘T W@ ST

C) (ST RARRIT eyt ST

D) & SIS ST AT

Answer: C) (IG5 2ARRITT T0e31sT AT

Explanation: STSIT T F41 CTX I TR SMRAT 3 A6 GIFT 432 @ A6 SR ZAOTT
TS 2J1 @ A6 FHe FFUEH [T SaNeR fofal AT I IRA FITHF TR AT FH S
(TR FEN | 9% DA oG F57 9 Ao (RIS FTUIE SHE© ST Sy o ST
©IF PRI S 7o FEA| T2 TRAASAT

122. Question: ) X M6 295 A7 THTST (T I, ST FEF ==n-

NGB/ GIRERIEIC
SCRICRIGERIEIE]
C) (BIeTsITe e ey

D) SECETE &

Answer: A) (SOTF/(AfE 8T T



Explanation: x4 36 336 ITR SIFTE I5 @, CTH YO TN T AW (T SF FEA| 3¢ 76
TTANeF AHIRe 99 4 [ G PRIF-AF 6 CTRIET 27 932 O 25T (JONET AT
TYFYSE@R T61F F47 27|

123. Question: ) IRTTCT (FTN A L FIGT 2F =---

A) SIAG-T1R ST
B) ©14 -SHIe T
C) ME-HIFA

D) SISIRIT (T [T

Answer: B) ®1g -aNf3e 30T

Explanation: SIF 1 3T 2 HHTS; (15T A 3 (N A | (VAT S Sl S ST 2w
FE, 12 B1F1 (o (@ FE@ T S35 2 I AF AT A | (F1] A ARG AT ST o0
QT 2, MFA-ST4 N 3 S (@17 FAT 2T 93 FNOP-SALRIA-(TF (AAHSW) A ST FI6T 27|

124. Question: ) STAIF-17 F6 TR IRACCTH (STENTTF THF NEF TGT?

A) €%
B) ¢v%
C) Y%
D) b\3x%

Answer: C) Y% %

Explanation: 51X So0,000 IBENRGE SFe@a RS Frex [afAfte GRERES M-ETS I+
SR IRACTH Tf2Fel-T63 SR0TH e, INETRG 3 ATOHIEAT (Se] 932 SIS =63 357 AW
IR SRS (ST AIAFS | S STHEAEF AT b, 059 ISFENNEIF (I LY TORT) IRATWCT A |

125. Question: ) MDG-AF I a5 fF7?

A) (7T (X (TIfers fosfer
B) HIV / AIDS forfer a7
C) T fof3feT 7

D) 4T 8 WIfNm 5 =1

Answer: A) (W7 (X (ST1fer8 forsfer

Explanation: First goal of MDG is to “Eradicate extreme poverty and hunger”. “Combat
HIV/AIDS, malaria and other diseases” is sixth among eight goals.



126. Question: ) TIRHNIF TTFF T3 IINTIT FoON TENHAT N T0 FIT T>J®R?

A) 53 B
B) b© o
C) vs8©%
D) s¢ ©F

Answer: B) b© o

Explanation: 5> S Y9 J16 ST@E a@T RO R 2| 92 RENHAF N I 3
T ST 5 IO Ay SR NAFT I (ST S ST F97 271 8
TATGI(® TRET6 TETT SECTRNE I (AT FICT TPTT SCMAAT N SIS TTFF T3]
T (AF IW (TSN 2|

127. Question: ) IRATGCTT SO Te5W I FHAFZ?

A) 72355 f3F8
B) 2 91 fas%
C) foa 3%
D) 9% 5%

Answer: B) ‘?@ EINFETY

Explanation: (I@IET (WO AT {1 95 FF ¥ 5% {8 1@ O | IRATGCTT ST T5w
2F 35 AT AT ST (w7 FIENE 8 TEed aRavel 5% [AfE)

128. Question: ) STAEF F61b RGN IRTCCTA (SIENTTF ST ITGE TJ@?

A) sox fo
B) sos 6
C)asfo

D) 555 6

Answer: B) sos 6

Explanation: IRTNCTE SR F& 1A S50 bz 132 T/Hms g fSed IR
@5f6 frbarzeT Tt |

129. Question: ) IRATCT (STENETF ATFH (FTAG?



A) 33°90’ - Y0°-08' GfFFeT AAHRTT
B) to°®y' - 80°-»o’ TR

C) ©8°3¢° - ©b' TIF AHRTT

D) B oy’ - 53°8% & TIEFRET

Answer: C) ©8°3¢° - b’ 53T AFHRT

Explanation: (FTo (M0T (S15T{ed I3 Fe(0 FHEAT 3 QIFERT (FSfed T (JR1T |
FRATWT BH° ob' (A 23° 8Y' I TIFET (FAT 932 20°08', (A $°-0'' T AF (FNF VT AI(F0 |

130. Question: ) IRIAECT AT AMHSAH TO© 2T FE?

A) 5593 ST
B) 9w ST
C) $599 ST
D) 598 S

Answer: A) 5393 NI (A) 1972 year

Explanation: SIS & IRACT 3 AMHBA IIF© 2T 4298 W | T ARISANHS
IREATCTR ST et T 9.68 @1 9 TAF IRTACT (M ¢ AT Ffde T q®|

131. Question: ) (FT Tofenio J1 5w TSI &3 ITH?

INEGIRIET
B) J=N
C) faam
D) e

Answer: A) TART
Explanation: IR ISTE ¢oft Ju F-(ST IHAT F@1 97 A& AFHNA e SI62 HNISIF

ST | T (TSI ISR (ST FHTSTR NS T | T3 3 SIFAT (W 43 (i, TR (0
53 3B |

132. Question: ) GIFTF ' (VTR AT (F A PET?

A) sfafaf
B) %1
C) I T



D) e AT
Answer: A) FfaRT
Explanation: STHTG STRBIES ST 2NN AT ANET GRANTH T S ST N SfeST FE |

133. Question: ) IRASIANE MNFI ST TN (F ST TSN IS RoTT T w72

A) RS (HFIME SHQR

B) 3} (WA S¢©

C) Y (ZIMF v2¢Y
D) » (37 5>@8

Answer: A) 35 (BFIE SR

Explanation: @8 ST A& AET7 16 JoH6 SIAS FIE » (3 o Tr=f{Ima
AT IR MNFIEF TN AFORT RHE o w31 27|

134. Question: ) J[EIGFT FH SINE FHSNTF 37T FIIF TONFIS WA 27?

A) 2@ T 5%
B) 24 & 9%
C) b fETET v95
D) 58 fE0Ta 298

Answer: C) b fOOET $95
Explanation: J[&IaaT 38 fStraa FHAA@E 397 IF7F 2en13 Wafbw 271 v8 fovaa Ao

BIRIY G2 o3 (@A @A ©id TG (V@ QT (71 7T | 529 T @ ST 7 I
eI IS e 2fenera PRI 8 IFEMNE TR |

135. Question: ) IRATF NS TTAFIR 2 TCET (7 (FAMG2

A) IFATSS
B) farst

C) >

D) =& sfifer

Answer: A) I&9157 (United Kingdom)

Explanation: 9OIF (w7 8 33 ISEAR (W fREIT 7 SR $593 SETH b SR TRACTIE



F$fe (771 T AHEFTT (T RO G S (TP INF S2R IRAE FHfS (7|

136. Question: ) IR J2BF (el FOI62

A)safe
B)xo fo
C)usfo
D)s> 6

Answer: C) u8 6

Explanation: - 589 NI ©TS SIS ST & IRAT GA (M6 5976 & e - (o shsrat e
FRETIRCT ¢ B @l fi2eT| 3289 ST (PTSTETA SIFT AT (ST (@ J26H FBANE MNIIAT oGS
FA | T (G AT I b B - TATOI® SIMSG MEE 207 HET6 M @O FAE
(T 77 59 o

137. Question: ) "SE:' I (F1H (SN AIFS?

A) TG

B) A=A

C) GlFrS I
D) A%

Answer: A) &6

Explanation: BN Svd 200 MM 3¢ FENHNEE a7 S IBNET TR S A F AT |

138. Question: ) IRFECTT BN JEFT J1N fF?

A) 6T, ATSTIRY

B) AMGT, SRS
C) Sgaht, =NJe

D) “TeT5d, AGIR

Answer: B) A, SRAISTH

Explanation: AGIES TETIE IRATCTT SFSH I | AGIF (Sl TRASHT SR ATFF F3%0 |
T 3 O ST TS 3 (ST IRFCTS SIASTIITT IS IS FE S50 | 9 (ST AT
ST NN MR STETE ©IFTAT 8o FEN (IBET 8 o1 stfersy wrsfar o fS5H (HErs (@36 =73
|



139. Question: ) IRATWCTT IS TETF FE 36 TJ?

A) XS (TFIMEF SR
B) 24 6 529
C) b fEoIEa vy

D) 59 ST SR

Answer: A) X5 (BTN S>R

Explanation: IRTATCTR STolF TOTFT TS AFOEET & 1T Ja| T T2 IRATWCIR JIS 5319 3
SIFCNT TolF, JEF I F TarFNe ¥, T Te & AHRTIFHEH TET TOIF | IRTECTT Sy
TP 92 FI6 L2 WETH $9 TN FIFHSNF 210 27|

140. Question: ) (FTET AZ ABIH STSIT TN©F F© AT IS 27?
A) 727 So &
B) ¥ ¢ f6
C) b fo

D) =% 8 f6

Answer: B) 3% ¢ b

Explanation: FI4a1¥ 3157 F9F Spob NE A6 FIS] SN (NATH IRATT S 77 b7
IREACTR ST oS | T 8 TR AZIT AN IS 27| FIe1fore (M6 2¢fB e =z |
IRACCTH STo1T FHOF SN 6T I FIFNHSIF FF© @S Aqam FES 5I7 A A |

141. Question: ) ECNEC - 95 (5XTEWT 91 Torife (372

A) SfEt

B) &1 d

C) AfFgemat
D) &gt

Answer: D) SxTs! (Prime Minister)
Explanation: STe1¥ arftafes afFama A3 16379 91 ECNEC-99 oS Maaiy Fareawar 933

g Torrfe IAw | F¥aE NEC-17 ToT9ife IHadat 432 F2-Ve e Af{Faamar| Sq: IR
8 fErr=ifasT, J/9s7 8 ey Cratt |

142. Question: ) "ARETF" fF TICEIF SF® To?



A) &1
B) s
C) T
D) <1

Answer: A) 19

Explanation: 37 Sf® STe: ST, FTARIAT, (MR, Mo ST, SFpessE, 8 fSiRsmedt
(9%1F31¢ badc.gov.bd

143. Question: ) (S3FT NFHfGF =, ISTF THF ST dF|) ST FHF IR FIFNES TS
TS (FAG?

A) J@ T8I0 61

B) SRS 5

C) @ i feTs

D) fagi’ S owe Jfam
Answer: B) Susa fAa

Explanation: G Jifed a1 2@®

144. Question: ) (FTH RFL@ (F4 FE Sd>¢o NE " N Ty P T OTES NETE (7T FAT
23?

A) fo@STN RFb
B) STIRENS 26
C) TR RFb
D) (I F6

Answer: C) TTETSB13d S:F0

Explanation: (FIET ILE (F@ FE S o ST NI o PFT TIQ SGTET JEE (PT FT
27|

145. Question: ) IS AT (P I=F 5T 2F?

A) bdov

B) sva8
C) Sbbd



D) Sbud

Answer: B) S8 (1854)

Explanation: @& 31T R a2 SR e w1afse a6 Fiew Trus A afe
SANTHISTAR (FTR@ NSEH N J& FE®| T I=G §& @ 77 76 S > o S eaes
S YT (W7 2T | TG (07 (T T AFGT T A@ P 92 AT Aq@F ST

146. Question: ) famfifi® (FEG International Mother Earth day?

A) Sv affe
B) 20 affe
C) 28 afsre
D) 23 affe

Answer: D) % affief

Explanation: International Mother Earth Day was established in 2009, by the United Nations
General Assembly. Since then, International Mother Earth Day is observed on 22 April. Source:
un.org

147. Question: ) (S5 S29 S2TNEH 14 points 2 F© F94 point 1 TS B FT SEY
P AR?

A)>

B) 3
C) ve
D) :8

Answer: D) 58

Explanation: - 38 MFe (AMGH ST O Sd5'b TR b SN MNP FE 30 947
TITO! TN T ASST (Br"w%T ST (Fourteen Points) (57T F@| - 93 FIFAT 48 2 I
o3 ST FUT I7 2|

148. Question: ) Sab© NI BIR FAM e THHHS 23?2

A) ¢
B) e
C)s
D)z



Answer: B) ©

Explanation: - sBIf&% §f& 31 535 SR §fea srser (116 8ft §fe T$fEe 271 - a8EN= e 6
T 8 26 erfiEte Tr%fae 23

149. Question: ) 8T (Laos) TTFIF 1 fF?
A) Democratic Republic of Laos

B) Republic of Laos

C) Kingdom of Laos

D) The Lao People's Democratic Republic

Answer: D) The Lao People's Democratic Republic

Explanation: Laos is officially The Lao People's Democratic Republic.

150. Question: ) faca @ FE T AEF A TRIS?

A) 5F®

B) SI%sTerTe
C) e
D) &=

Answer: C) &g
Explanation: - China has the largest number of neighbours (14) sharing its 22,000km land

borders namely: North Korea, Russia, Mongolia, Kazakhstan, Kyrgyzstan, Tajikistan,
Afghanistan, Pakistan, India, Nepal, Bhutan, Myanmar, Laos, and Vietnam.

151. Question: ) SfoskT TFIF FHE (UNDP) - a7 ¥ ufC {52

A) (AGH

B) MRIAHETS
C) M2 S6q
DERINET

Answer: C) ¥2{6d (Secretary-General)

Explanation: UNDP (United Nations Development Programme) SnfesEd Srfldfod 3 Sfdid
PP (ECOSOC) a7 9516 Fi5Yf6 | af6 83 b ¢ W 57 2| a6 Trawge fNG3a | afbd FaTes w



STNF (Administrator). TSN STF S ST CHRATF (Achim Steiner). fSfA 85 ¥ 059 (W@
SRR (T WIAg e Fated | af6 fAeg S a0f6 (T 318 Fa| (a2 2TAafS T S@ITRD)

152. Question: ) S AFIGA (NFTIETT Green Climate fund AT WG (TISETR Sy (&
SR 91X FF FER?

A) vo fJfeRe GeE
B) o0 fAfeFe Teng
C) Sto fAferEs Terg
D) Soo fAferme Terg

Answer: A) vo fafeaa Teg

Explanation: UNFCCC a3 ST 3% - S SICHEAE Y050 ST SeTary AfHI6 (NHEH SeFMer
8 UH" (TISENE AYF F2TS] Tl % Green Climate Fund 5fd® 231

153. Question: ) THAZ FF 95591 ABM (Anti-Ballistic Missile) §f& (3@ [&@ SoyRE
FE?

A) I r005
B)Eﬁﬂkooo
C)qgkoow
D) 3 x00%

Answer: B) 3¢ 2000

Explanation: ABM - Q%ABM -aq9 ﬁjﬁq"ﬁr Anti-Ballistic Missile Treaty (ABM Treaty)| aft a3
GTF e FNFs 5| IFAT 8 MIF (oS 2@ N (et 5o 271 (ot
Treaty on the Limitation of Anti-Ballistic Missile Systems S8 AfAf6@ | I - 3G (F, S>3 I
FIFH - © IACBTRF, SR §& TEFET T - ACET| 1972 ST TS 2 §fe (A S T 2003 T
TFAIR IF9O(R [HE@ FoTRE FE (@71 T35 Live MCQ Content (upcoming).

154. Question: ) JEF AT FFGOT T ----

A) 558
B) va¢o
C) 5280
D) v»8¢

Answer: A) 498> (1949)



Explanation: SIFJ IsT XM LTATES 8 TF NP IAFF NI (TISETF AF6 ISiefoF (@G |
$>8¢ NIEF 3} M AT AT AfSFe 21 afoq Tmawed FrEg Toea FRETe Jd3e | afed Ty
T3 X301 ©@ AT Towrem FEA 3foTe TR | IS H2N6F FrIEa Sizem Age (F3e |

155. Question: ) Yalta Conference--a5 AF(G 57 feet:

A) e F18¢ ey
B) bR e sEs

C) Y& H IO Hf ST Z7
D) Sfes afeST

Answer: A) Rrma F1R ey

Explanation: 3I16] FAHIEST: - $58¢ T 8-5S (FFAMT CNfe@e 38fa@a fFwlma 3arere ffra
T 93 A Aeffoe 2| ST ST 7 Af6 956 Sl Fegera| 8 NCHene T¥e foaeere - -
TEAEA (AT - FHFE S, F0 - (NSFS (ST - (ST SBIT - JEANOHH TN - SR oe
BIf6eT 9% SO SISTRET F1T ¢ T (GG FHST (T3 27|

156. Question: ) ISATT NAM-AT S5 STRATT---

A) 35
B) v¢
C) a9
D) S0

Answer: C) 99

Explanation: $»>@¢ ST I3 (REATAAT) TEHES AT (G (AT SIw1ere 7 A5 (NAM)
A 2X1 S5 TET AEF JETATSATH AT (FAEE T AT T FEHeT Sefo® 23| fF6ly
NI b8 ST PTEE FIETS TFS 27| - NLCH S YN AN SCHAT TGOS T 205 ST
XY AT ASTRIRSEI IS IO | - TIEH IS HT5 FeAT dx0 AR THEFHS AEGH
SRATTSA1 - 97 (FT 3 A9H w3 (72|

157. Question: ) "War and Peace' ST T6{AS]T ===

A) (B A
B) (Gf&G fA=TET
C) 3T NS
D) fo18 Bert™

Answer: D) fei8 5e°6F



Explanation: Leo Tolstoy: - Russian author, a master of realistic fiction, and one of the world’s
greatest novelists. - Tolstoy is best known for his two longest works, War and Peace (1865—69)
and Anna Karenina (1875-77), which are commonly regarded as among the finest novels ever
written.

158. Question: ) ABFHGF (FC -7 Tug 7T

A) femar
B) G

C) =vifast
D) (SwweT

Answer: D) (5iieTe] (Geneva)

Explanation: (FG&(79 Sug WaF SRS (SO I 50 |

159. Question: ) IAEA -39 ¥ud W9 (= :

INGIGR)]
B) sIfas
C) STPRG
D) fe@an

Answer: D) fo@4T (Vienna)

Explanation: - IAEA 95 Sawgs SIFSATE f@E aTafTe | - IAEA 3¢9 ST 35 IR gfefde |
- THIF T AT $ef| - Ao AeITF 7fF T3 (IAEA-International Atomic Energy
Agency) TN FRIAHCTTF T AMSBATF JASTHF IHIET NEITAT | - 205D ST © fGoraa
fofr sieifba 9o srRrAfAeTET RO wife 929 FEF| - IAEA 200 STE RS (A& TAEH e & |
- FRATET SR JE IAEA A7 S0si7o e | (SAaz IAEA SFINIRG)

160. Question: ) W& Af6Fe 27 -
A) SR
B) babw
C) v»b8

D) b5%¢

Answer: B) b»bw (1983)



Explanation: The South Asian Association for Regional Cooperation (SAARC) was established
with the signing of the SAARC Charter in Dhaka on 8 December 1985. SAARC comprises of
eight Member States: Afghanistan, Bangladesh, Bhutan, India, Maldives, Nepal, Pakistan and
Sri Lanka. The Secretariat of the Association was set up in Kathmandu on 17 January 1987

161. Question: ) TETT (F I=7 AfSDo TJ?

A) 5585
B) 8%
C) b»8%
D) 8¢

Answer: B) b8

Explanation: - $>8¢ ST 2$CT I AP JSANGT TABIBIGT T ¢of (T ST St 15
FE| - ¢SO (7 ROTF (NS 9F2 TET S¢ BT NSTRE ™ IHT FE | - 38 AT H8C
STFSTRE Nefw FHFEF TN AGINAFSNE NN AALFT FE | - NMORET TvawIq JSAEGH
023 2@ JIAFFe | (Ja: TS STINZ0)

162. Question: ) JEET XA (FINT AIMF0?
INAERE]

B) g1

SEGIE

D) fSifaar

Answer: D) fSfs31 (D) Syria

Explanation: Aleppo is northern Syrian city.

163. Question: ) AT (STFTHT (F1 (MCT HAART F(EN?
A) BT

B) ST

C) ST foraT

D) GIfsTesTferT

Answer: B) I EIT

Explanation: Ta/F (SEST 5950 NTEF 3G IA5T6 ToNF God (NNGIAIT (FTIE 2T STZT FE@H



164. Question: ) IRTCCT FV (VF IFF OO 5] 27?

A) 5559 STTET
B) Y22 NI
C) X000 AT
D) S99 ST

Answer: A) 5539 ST (A) 1997 ST

Explanation: - ST faT=raT T30 O1T RO STAGCTAT TR0 TR 599> TATRE
(90T T TTFSTOT F9T FY6 51 2T | - BF(® 97 Ble] T@EH AT 2@ 8.00 TF & 93 SO
ST ool AHF Soo BIFTI - BAS 2035-3033 AATRF AT ITFSTO] TAFTHF AT MGAE €3 TF
A2 JIF STOIF ATTHT ¢oo BIFT| SAPIT: MG TFWT : 2035-303% YIRS, THGCIAT SAH0IS
SHIANIRG 932 SO SIS fAATTGT (BT FREA, TR x05¢ |

165. Question: ) IRATGCTT T STHOT AN F67?
A) eseb fF.f7

B) 8was fF.fi

C) w»v f.fir

D) 8say &y

Answer: B) 8w@qy fF.f3

Explanation: IR 3 SIIGF TN (7l 85¢ Y fFERNBF |

166. Question: ) (VI IR 2% FRSSIET (7K F© 72
A) sy .y

B) sxx f&.fir

C)sx.v B

D) ss.w .

Answer: C) 52.% f&.fir

Explanation: (NI (TEFW 2% FIRSSNET IoTPE W 08 % fF.f7.1 source: dailyingilab.com

167. Question: ) SJVFIE IH STANF 729 2F -

A) GFRTSEG



B) H51#

C)GIS
D) =sT-376
Answer: A) (FIITEEE

Explanation: 2008-0¢ ST 5-1& AT TIL =T Twfere IE ST F1 @1 Source: bbc.com
SR AT ST A0 2T AST-H1F 3 FIEE] TR T@fS| [5a: T SIE]

168. Question: ) Y008 MIFTH SWFF A (GOIF 51 el FHH =-n-

A) Soo-300 fF.fY
B) woo-8oo f&.f
C) »00-So000 fF.fi
D) qoo-voo f&.f

Answer: B) woo-8oo .

Explanation: Indian Ocean tsunami waves travelled at speeds of up to 800km/h. Source:
bbc.com

169. Question: ) e fas (B 2AFEHSE (FR1T AfFe?

A) TIRIT

S EGRIE]
C) TSI

D) ST
Answer: C) SIF1Ie51(#

Explanation: f&fse (& 2FBHCE (31357 Ao 2R BSE) S (ST IF2IG oIa3o | 93
(BfeT: 3AFEHOH N3 (TS @ [Afeq FHFOI-FHGIRT 9T ASTER™A Afeq @ af¥mpar w37 23|

170. Question: ) SuS 8¢ (1.1 Ff& (T 20¢0 NI 15 IRAWCT climate refugee XE?

A) 8.¢ (3116
B) w.¢ (F
C) 8 (F1i6
D) © (316

Answer: A) 8.¢ (F1f6



Explanation: climate refugee: - (& ¥ 9% AISGIF T YTF IT% B9 50 Y[ FIHE
SIS SN TIHTH ST ATIG T (SRFAIN) 97 M@ Y0¢0 N AT PL B THeT &
BT M@ M| - S 97 BT TN 5T (T IRT@CTT 9.¢ (FI6 Moy |

171. Question: ) ATFSEF (TG & P ToR 5T F(© AT?

A) do TOR™T
B) 8 @R
C) b TeRT
D) .59 ToRM

Answer: D) .99 oM

Explanation: Nearly all (99.97%) of the energy we have on Earth comes from the sun. This
amounts to an average of 340 joules/second for every square meter of the Earth's surface.

172. Question: ) fFIIIF AN SO I AFISEH FoFa TSIF (NI [T TRIH
PO TORY IR T4 PHE?

A) Yo%
B) 80%
C) ¢o%
D) @o%

Answer: B) 80%

Explanation: Sy 92 f[A@ o FT - TEGEE

173. Question: ) GRS FFTAT FHSHTEAT 205¢ FE SF T@@?

A) S SRR
B) S SR
C) x5 A6

D) v e
Answer: B) b ST

Explanation: 507 g 9= | GE1ST T3 ST (67 6 FSRITF 205¢ T FFI0 2 - 5) G
T (IG5 3 FRIF) RITAE, 205¢ (55 I 205¢ ©IFE THF©)



174. Question: ) ST FTRT RCT -

A) IfHare

B) 54 8 Y AFFT

C) SIEAfIfEa SrggR =me
D) S SCT SfeF=sre

Answer: D) Sus OG0T SfF=sTe

Explanation: a1 (Tsunami) ‘ST SN 127 | IRAT 97 90X (ST (GO’ | WIS T q4at T IAAy
FTA SEEE SREFEE, BhERTTE Fa1 aEfifaa Twillaed J1E 8 SEmam@: J901 33 S|

175. Question: ) (I SIS @1 S8 FE ©IF Je71 2 -

A) &t
B) 2@ S
C) tfae
D) @«

Answer: A) S1319

Explanation: Pathogen: any small organism, such as a virus or a bacterium that can cause
disease. Source: dictionary.cambridge.org - Nﬂ?@ﬁﬂ? @Tﬂﬁw ®IF T 2T RO | -
RAGP T JCT S| - B R TS | - SiR1e] 20T 554 Ju ST TR (@157 5 FA©3 A,
18 |

176. Question: ) FraF TqRGF SIRW T EF (FE0 S6l?
A) S5l

B) (3}
C) S%eTy
D) S@fe SIF6

Answer: A) §igfs

Explanation: s sa91% 5121 8t Fhe, (T2, ey NISENR (| 87 MHen@ Afeaa
S, e s 8 (72 6 a5 PR S ew (¢ igfs fw Frag sagife i s s=
R

177. Question: ) AIAT FfoHfTe 2 ET FE =67 FH AEIOF 2@ AT?



A) OPT
B) NOON
C) SOS
D) OTTO

Answer: D) OTTO

Explanation: OTTO 98 I¥a¥ Afe%Haa8 OTTO.

178. Question: ) ST (NF 2 Fb G WIS, SO TN AT FOGF (7 IMT?

A) ¢ 3o
B) 8 &
C)w© 36
D) 336

Answer: B) 8 &

Explanation: S&ee wsfel TG wefel (A I V@ I35 ASfIT 757 (¥F SO J 27|

179. Question: ) AT (FHH MNF STCIT AT THE TR FE?

A) SITTIRES
B) TR
C) Brfer
D) f&afsyey

Answer: D) f&5ife

Explanation: Sl SRES, BN, FRENEATT 93 RO 9803 tofd 271 93 AFSRISE]
RESTGHIE ATT MW N (e

180. Question: ) ST TOFAT PG ISl A2

A) 9b.o
B) o.©
C) 0.8%
D) o.%

Answer: B) o.©



Explanation: S¥ed ST TN ST AR ToFaT1 SRA- AREE- 9%.03% AHE-
20.95% 5 - 0.50% FIHF TR AARS- 0.00% Tl - 0.85% AT SHITTIR- 0.03% Yferder
8 FAPT- 0.05% Bz GUOIT 3 AT, TIH-TT Cfel |

181. Question: ) MEF (& (Tf2© FfIFT (FNT 5fFo AF?
A) T

B) 3@

C) T
D) &=ie

Answer: D) #=21@ (Spleen)

Explanation: (FTfR® F&3(9FTE 9 AT 517 I AX18 S30 | (T1fRw Ff@1 ixre 5fFe @
AT BRHIF TFAE AT (A (RS FIF TSI TIITR 27|

182. Question: ) (F1F IET N TfFF e A58 et FIRHES F2127?
A) T=HINF

B) 23

C) @gfes J6a

D) SrFee

Answer: D) SIIFTEAT (Dynamo)

Explanation: « SIFFIGI 43 436 I I [T e@ [AR et FIEEe FE| « AN, @ied
NoF @fes e@ IMFF TS FIREC FE| « TSN E NPT | I T [Fod@ o [Rer
93 {97 Fe3@ % f[Te@ FT6Ee 3E|

183. Question: ) NWF (I SEF 57?2

A) TeET
B) (Fcq0@T
C) AfaTFeE@d

D) TeEd
Answer: A) IHeE&ET

Explanation: 5% 2T TB@EA 90| TYOER 10 3 FAFA A5 fVoa 7| @ 87
A So fAFErT | TR ARI@F 3T .00 (F| AIF AFSFTA T AT (NfAAET | T:



ST, FI-we CIfe |

184. Question: ) SRATNSAS (F15T 9T (F1A(H?
A) TG

B) 93G5

C) (51 837

D) ferSwnferan

Answer: C) (614 387

Explanation: ST 26T IFGERAT Sfeve (@151 (@NSE SIRTF A1 2 CETGIFHN
TSN TN SREH, 936 AT (C1F 357 27 SRAN S &S|

185. Question: ) TfITET TAT 8 TTTARIT [ATE IET ----

A) IS
B) S3eT&t

C) eI e
D) (56

Answer: C) 2eT1&¥ (Evolution)

Explanation: - @S 97 IRAT AT TN SARFEH | fFRE@T (@ MNF ST 7ifFe fFmafT
186. Question: ) (F1F I (ST TAHIH TR-SIFRE TTOICT IATT?

A) faafé

B) (sTC&TT

C) S0

D) f&wavet

Answer: A) fNaaf& (CNG)

Explanation: fE (TSI SEHTE GR-9IH1RG 6T AT |

187. Question: ) (AR (GFTHIET TREF N& @ IJ1R® 27 -

A) =&



B) ©f&’*fe
C) (e
D) SETe

Answer: B) of&39f&

Explanation: (¥ e JCY (NIRRT (77| (NIRRT 6] ARG FIEE 0T AF6]1 HIEI et
TP (57| AfSENfaF o, Line - b) S, oI, ©1F Tofe: fishing lines, telephone lines, crossed
line. X) (FIET FCIF 1T, SIfG=, TS, 1Y T T&@fe: Communication Lines.

188. Question: ) HITSET Tl TG Ff6FT IR FHG?

A) ST

B) 361 3%

C) SFETSIFETG A0
D) st S

Answer: C) SIMETSTE6 A3 (Ultraviolet rays)
Explanation: - SI3o@a S SAGE HioFa 937 2E ST ARA| - ST AT SHHHT TIEE I

3T AT (O FNOTS NIGEE @ MNFNATF [FEH1RE st a3 fasfe =71 - 3B 8 Sty a3 s
AT TTNT T FfoFA |

189. Question: ) (F1 F2 (FF 7T (VA (74T TF?

A) st
B) e

C)xm
D) &I

Answer: D) «TeT

Explanation: SN G T8 @ 97 T2 8 SINIETT TIF | AN o0 (@ @ o1
fAEF= ©© 3 2F| AT FEF N SAZH (I O A7 {EsF F| SR A AT AGS T (A
(W | (7 3veTs OF 18T 71 IS 97 ToAF 1 [T o FIEMIET 27 Ao e 1 RfFTH61H fors
@ T A FoHF A@S GF (@ (7 ToF 20© A

190. Question: ) FISF BIFSTT 720 ST [FIFFCEF SIH 2 -

A) SIEETGT
B) A swrf



C) SR
D) SIIREGTT

Answer: D) SRCIGTT

Explanation: f6{&3 @ (OS3%T SIRMNGIEE J8Te THREE IR @R | (I - F) (F19T Faw@
8 ) (FT (@157 AT (FHENFS T forefT |

191. Question: ) WfeFeNF I TT NAISNIHS-

A) dfes fe

B) afes fafy

C) SIS

D) @fes s

Answer: D) @fes ammf

Explanation: [Ffe3el 20 SIE-5+ A6, T=o], Too] 205U S TFE I3 [REFsT| o1k
ASFONF T 2 MATHAEH Ao AW |

192. Question: ) 'Power : A New Social Analysis' 535 F19 (711?

A) RIS e
B) zax

C) %

D) T

Answer: A) SIS aTSfeT

Explanation: Power : A New Social Analysis 5368 F6f3e1 fafo wrffas &= Fre| 326 sowo
ST S0 2T | 9% SR 37 (7Y (R AT GO T X FHeT G 7|

193. Question: ) "3 FXTF" 2 -

A) stfafes Jev=

B) a6 wrffad Seemi@d o
C) WRIRS 9 4@ FSF ATAA
D) 4fG SA =T F1IS! T

Answer: B) a3 arffa@ Seemi@s a1



Explanation: {6 535 %7 TR TS ST FAR I FF T 7 FsMoF Ao 933
THSH HFNSTEF 9776 57 F41F | YT+ F4FF (Golden Mean) 3 &1747 (7, S Tfers
AfFBe|

194. Question: ) Ffes IAGRRIE (Code of ethics) Ie® JINF -

A) CNfTF JETET SRFTE N T6 I R (TS GIHNFIE WIS FE
B) IRI@IF fAfF Mg MG News @ w1 eI

C) tafe FRF g FIC IMe e TN, Maua J7 AGCIIIE

D) &7@ foafb: Ios

Answer: C) mafe FHFAT IFS FAC TS @foF [T, Fawa T AGIIfIE

Explanation: According to Oxford Reference, Code of ethics means- The ethical standards that
are adopted by an organization and expected to be followed by its employees. Well known
voluntary codes of ethics exist in many multinational companies and are used frequently in the
public and not-for-profit sectors.

195. Question: ) F&Te JeNETY T F( -
A) TS T

B) sTTeTfaF FTINE

C) TETS FTENF

DEISEER GGIEC

Answer: C) Tfesre FTRINE (Personal values)

Explanation: S&5Te @Y 2EN G JoF JHEE | A5 FEd THTOIF a0 FE|

196. Question: ) IR FHTF AT TH (% -

A) NS (e AT

B) STR$foF A THeT FAT
C) T oF AIFHY (1 FT
D) T3S AIHT (T ST

Answer: A) ﬁﬁ CIGIEEEI

Explanation: « Iy RIS STTes T I TS ST (1Y FAT| « JNEE 8 JenE Hrg
HTHT NI TS SASF SIFTAGIET S T [F 9376 To1T| « NES SNSF AGFCEH o1 a7
TR (A SIS |« ©R FNET FF1F 7555 3 T AFF A& SIIAGIER NER o 3



(nfre|

197. Question: ) SPTIN T A% A% M 5273 I MTF 8 TG N -

A) ST ST (ST

B) (FINMGR 77

C) MfET =51 NG (ST
D) SIFEE o1& SIS (ST

Answer: A) 1% STTG (ST
Explanation: - SIS *157< 438 e TOET AES SRITARDTR T FIZT| - ST (9 AR

ST ST SO, NAFIES S S S THE JINT | - SPITT 202 A5 A7 7 3T I
ME 3 MINOF & AFIF FF SIS (ST | - 9% AFIF Fo57F T© &1 2@ ST 0o N0 2 |

198. Question: ) SPTNER TS 7%= -

A) (e SFIF

B) YISER

C) T f&& SFFw

D) Iftafes 8 Tfes Sa3w

Answer: D) S(dfo® 8 THI6F STI

Explanation: SI(afe® 3 STANTAE SHIA =G SIS ST F1 €T F(E A1l B1R AW SIS
TS fAECAT FAT I | A ATIH F 3 5T JOIR AR O, ¥ HFER NI Tod 3@ IF| (Ao 3
STNTSE SHI) fFeF, 7) NG 53 27 AT - IJ(dfod STId, Tfafod 3 THSF SHIF, THISGF
SERCINGIERH

199. Question: ) 975 FATTNEF GNP YT RCET -

A) FdtTe1
B) Fe]
C) Ffspe]
D) Serser

Answer: A) FTStTer
Explanation: 358 S SF N ST (NP AT JCET ST FITT ST FAT| 93 NS

IAMENFE AFO FAF JT AR B1F FHPISE TG FE | (Faz T TS (NAAS 3 5P
YT — A (1. (ST 3F)



200. Question: ) SPTSIE Y ABFF -

A) SIREF T
B) s@rafufzer
C) WIS
D) To=dife

Answer: C) TTITFIST (Justice)
Explanation: WW@GW T N | I%%0], ST, SREF 5, HITII O], IBICRAETLI

RN RN SPINER SA | ANER FIETE SPI SfeST 7| I Foe e, qae, sl Jesiv
SPTNER Y AP RE bfFe| Ja: T M (Naaife : TXT=a-(l. GISICHT 235




